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so2l] [ : £ 2ppm
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02 0~25.0%vol + 0.2%vol 0~25.0% 0.1%vol

co(h2) 0~8000ppm

00 00O 0O50000ppm = 10ppm = 5% £+ 10% 0~200ppm 201~2000ppm 2001~8000ppm 1ppm
co(h2)-00 0~500.0ppm = 2ppm = 5% 0~40.0ppm 40.1~500.0ppm 0.1ppm
co-UJ 0~20000ppm £ 100ppm * 5% + 10% 0~2000ppm 2001~4000ppm 4001~20000ppm 1ppm
co-00 0~10.00%vol + 0.1%vol + 5% 0~2.00% 2.01~10.00% 0.01%vol

no 0~5000ppm £ 5ppm £ 5% 0~100ppm 101~5000ppm 1ppm

no- 0~500.0ppm £ 2ppm + 5% 0~40.0ppm 40.1~500.0ppm 0.1ppm

502 0~5000ppm = 5ppm = 5% 0~100ppm 101~5000ppm 1ppm

s02-[J 0~500.0ppm = 2ppm = 5% 0~40.0ppm 40.1~500.0ppm 0.1ppm

no2 0~1000ppm + 5ppm £ 5% 0~100ppm 101~1000ppm 1ppm

no2-0J 0~500.0ppm £ 2ppm £ 5% 0~40.0ppm 40.1~500.0ppm 0.1ppm
cxhy 0~5.00%vol £ 0.25%vol 0.01%vol

co2 (0 ) 0~20.00%vol + 0.3%vol + 5% 0.00~6.00% 6.01~20.0% 0.01%vol
ch4/Ipg 0~10000ppmch4 0~1800ppmipg £ 20%f.s 1ppm

co2(0 0 0)0~99.9%0.1%

00000 -20.0~120.0oc + 0.50c0.10c

00O O -100.0 ~1250.00c + 0.50c

+ 0.5% -100~100 oc

101~1250 oc 0.10c

0000 -10 ~200.00hpa = 2pall + 1% -2.00~ +2.00pa

0000 0.01hpa

00O 0~10.0hpa+ 0.5pa0.1pa

OO0ooon 0~850% 1%

000 0.0~100.0% 0.1%

0000 0.0~100.0% 0.1%



0000 ip42

0000 -50c¢ ~ 45 oc 20% ~ 80%rh

00O 950g O O 300x 100x 96mm

O 000D (0 0)018/30/75(cm)0 1/1.5/2(m)
00000 (00)0800/1200/1500/1800(oc)

0000 (00)050/75(cm)d 1/1.5/2(m)
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